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1. TSR ¥ UATHE S HaWed ehgl Tty fepan e ?

INE 18 B) SEUX
C) WA D) o=t
Ans : (A)

2. ShiHUT Fraf~Id & Tar |, TH T SR T Beonnrrreerrnnen.
INE LR | B) e wewr &
C) fafemu g D) &
Ans : (D)

3. ITSTHY oh ARG T okl fohe 31T ATH | off ST ST € ?

A) ferrege B) 71§ Sliaet
C) U\ 1§ D) #eR 7§
Ans : (B)

4. WETITUT SHET Sht oo Telert it Frmtor at st feam s § 2
A) 25 B) 39
C) 32 D) 30
Ans : (O)

5. TISTRT H WHTSR U1 ST YehRT9T fehl T | W g37r ?

A) STterqT B) &9
C) 3T D) 3TeTeR
Ans : (A)

' A) T, TgwoT, =re, =i
C) T, greft, =i, fEor
Ans : (B)

7. fora anfiies Hug@ § 31 TO ST Yo § ?
A) g
C) fav=ig
Ans : (D)

8. AHENT & T Yoy 37eTeT o -

A) gm feg
C) STt aracicht

B) "tst, |iE, 91T, el
D)= ST, T4, ST, < fiar

B) SreIeTET
D) SteTeRt

B) TH.T. 3R
D) TA.ESHa g Ans : (C)
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9. WIS, TG HeTH GRT fArad T&Teh 6-
A) Ua gfgan B) =1 Utg=d - TSRAl g A<t
C) Sieh TS A9t D) forai=e i trg=w
Ans : (B)
10. fere 29Tt TS vt Uo W9 o | 181 fopar = ?
A) TR B) 3TeTeR
C) \Xaqx D) sletqT
Ans : (A)
11. fafesr wa o <réa fagie wa afeagan?
A) 1946 B) 1944
C) 1933 D) 1942
Ans : (A)
12. W& fashed vt w@ FifaT - e : fag : @I ¢ ?
A) Tk B) spferqdt
C) saead D) eheelehail
Ans : (D)
13. aes fafeae Sfge T 2012 = fasaram € ?
A) YRt 3TESaATH B) THA 9T
C) Jnfae Agar D) SIrerd GSIertuT
Ans : (A)
14. TrETe =g ToTeaT ot fora FersteraTt Sieh @ Welfaa g 2
A) F=T B) fererrrg
C) "arg D) ARETS
Ans : (B)
15. frrefefiga & @ s a1 uidd wEa widw e @
A) STIH e B) SUTTsl shiieted o Hed Hiaweert
C) UTEeh 9If<h D) & gfaattiat st 9
Ans : (O)
16. Y. o, 9Tt Weav e WA Rl ST R & ?
A) IR @™ B) 9&THH @
C) ye&d @ D) dharett @
Ans : (A)
17. T Te=1 & | e 37eaT Sngier R g2 ?
A) SRl Temg B) STl STl 9T Tehl S
C) Trete tee D) grugt |4ret
Ans : (D)
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18. T HT Tieh 2ol hic] Nd | HaATd & ?
A) Tt it B) TR it
C) dst it D) T Si
Ans : (A)
19. TTSTET |T&ed STERTEHT §RT 2011-2012 o W Y& § foret wenta fomam mam ?
A) SHYT AT AT B) fwd= frmidt,
C) TRAfHE uferen D) fftaert g0
Ans : (D)
20. fewelt- qrarg sivenfiter nferam uftair feaent sriter & wenfue ot ST &t 8 ?
A) WA - U™ B) W4 - fagesweveg
C) \RA -HIARTE 3t D) 9Rd - W
Ans : (A)
21. TSTRAT faem |1 gRT el | faems uieg wifud st o folq Hehed ohdl dTiid ferar = ?
A) 18 37U 2010 B) 18 3T9eT 2013
C) 18 314& 2012 D) 18 3T4eT 2011
Ans : (O)

22. fohrT Gfqam Gy o gRI s (6 | 14 96 ) oht WU 317 AT 91811 vl o STferaRtt W wrtera
forar T ?

A) 76t B) 42a
C) 754t D) 86 =i
Ans : (D)
23. Tfg AlE ST AT fe7 Iha | T {7 Ud €, a STy ’ig o SIaat (e shi 91 faa g ?
A) e B) @Ha
C) FIaR D) YTl
Ans : (A)
24, 20 Grafeea § wid |/, 38 Weh SifeT @i g ... ?
A)fra B)ya &
C)wid g D) =T ®
Ans : (A)
25. TEl fashed o1 o9 hitaT - G50 : ShfcTaRt @ : A& @ ?
A) & B) sfts
C) &t D) ufwat
Ans : (B)
26. T ® & ani=an faeney fuar-us Ry &t gh swear €
A)M: 1 BYM: M
O)1:M D) 74 | i3 el
Ans : (O)
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27. Ueh o Yiaaiiar § 9T & @ ©: faanigat U @ Ui faenst Teieh T Racrel @ e ues e
T | FaTe G Ylaei v # fora Har @t s |

A) 30 B) 36
C)15 D) 12
Ans : (C)

28. Teh URAN § ek STTEHT, ITehT Ui, Ieh R Y Td STk UTeTH & | Tedieh oh URER | i Y 997 Teh
Wi oft €138 R ufar | TR gewE ot wel G g -

A) 4 B)8
C)15 D) 17
Ans : (D)
29. AGBWIER, CADTEAE | A ST SST D ohT WTE & | 1 o1t B ol C A ST HSeT § |
A) aTE B) ot
C) 3iehet D) <<t
Ans : (O)
30. HHA 2 S | 10 oISt oh s TSt okl YT fehel=l X T Wier WX it |
A) 12 B) 16
B) 15 D) 14
Ans : (D)
31. 9o UST H WA 8 w5 25 Tue sirent gt At 36 w9 wue whi ¥ ud fue @i gg gr fa@my o wior
it o s
A)22.5 B) 20
C)17.5 D) 12.5
Ans : (C)

32. Weh BT 7 Fta W&t U9 g1 foht 3 @R TTeta U9 2t foRdt | arfe S et 48 U9 gt R ot 3emt
fereat ot ot wdt gt o 2

A)12 B) 18
C) 16 D) 24
Ans : (O)

33. TR 4 ThrERaTe ( Tearsd St 21Ul @R ek @ il Wictehl 2ed ohi o@ Uehdl ¢ ) Frafafead @
T T T el ?
A) Tt srgHTTad S fthes ot TR T
B) Tegut TEEte il 2 ftheh okl ITTH 9 &St | Hag 5 ot deh Tk T
C) foret 3EUt UZH | 2 ftheh ht &1 31 21 foh] 30 USH W WM ©
D) AR faten ¥ fordt Teh I/ ot Sttt 2 fthch ¥ 918 9 o1t @ |ag 5 a1t ek Uehl
Ans : (B)

34, Aedeh USH STEATM ohT ShIFET FAaT ShTH | feTa ST HehdT & W10 Ueh €1 S USW | ohg I/
THAEA $2TE | Ao &l Ueh ?
A)NAT B) Dynamic
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C) Static D) PAT
Ans : (D)

35. ZEUAH -
A) e Hehdl ohl Teh oFc U Ueh 90T Tie s Hig ¥ U ST |
B) Weh Hehd ohg SUATTRATST o foTT ST rar €1
C) e Hehd STERT SFell U Ueh 919 O 9T & |
D) 37 | hig T

Ans : (A)

36. How many 5s are there in the following sequence which are immediately followed by 3 but not
immediately preceded by 7 ? 8953253855687335775365335738

A) One B) Two
C) Three D) Four
Ans : (A)
37.1f 73 (in base x number system) is equal to 115 (in base y number system), the possible values of x
and y are
A) 16, 10 B) 16, 8
C) 16,2 D)8, 10
Ans : (A)
38. Find the missing term in the following series: 10000, 11000, 9900, 10890, 9801 ?
A) 10929 B) 10781
C) 10241 D) 10423
Ans : (B)
39. Choose the missing terms out of the given alternatives - ABD, DGK, HMS, MTB, SBL, ?
A) ZAB B) XKW
C) ZKW D) ZKU
Ans : (C)
40. Choose the missing term out of the given alternatives U,B,[,LP,W,?
A)Z B)F
oD D) Q
Ans : (C)
41.If D=4, and COVER = 63, then BASIS =?
A) 55 B) 49
C) 50 D) 54
Ans : (O)
42.1f3+9=31;15+12=45;18 +9 =36, then 12 +27 =7
A) 14 B) 53
C) 9% D) 49
Ans : (O)
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43. Which fraction comes next in the sequence : 1/2, 3/4, 5/8, 7/16 ?

A)9/32 B) 10/17
C) 12/35 D) 11/34
Ans : (A)

44.0, 6, 24, 60, 120, 210, ........
A) 336 B) 240
C) 504 D) 290
Ans : (A)

45.1f1*2=32;4*3=712;4*7=1128,then5* 1 =27

A) 65 B) 64
C) 63 D) 66
Ans : (A)

46. 1f Z =52 and ACT = 48, then BAT will be equal to
A) 41 B) 46
C) 44 D) 39
Ans : (B)

47.1f3+5=16;7+9=64;10+12=121,then 11 +3 =7
A) 49 B) 196
C) 48 D) 56
Ans : (A)

48. 840, 168,42, 14,7, .......
A)3 B) 1
c)9 D)7
Ans : (D)

49. The missing letters in following sequence in the correct order are which among the following
alternatives? a-bbc-aab-cca-bbcc
A) acba B) abba
C) caba D) bacb
Ans : (A)

50. Choose the correct alternative that will continue the same pattern and replace the question mark in
the given series : 1,9,25,49,7,121

A)91 B) 64
C) 81 D) 100
Ans : (C)
51. The missing letters in following sequence in the correct order are which among the following
alternatives? abca-bcaab-ca-bbc-
A) ccaa B) abac
C) abba D) bbaa
Ans : (B)
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52. Where was India’s first computer installed and when?
A) Indian Institute of Science, Bangalore, 1953 B) Indian Institute of Technology, Delhi, 1961
C) Indian Statistical Institute, Calcutta, 1955 D) Indian Institute of Technology, Delhi, 1951
Ans : (O)

53. Microsoft word is a part of which of following?

A) Microsoft Publisher B) Microsoft Office
C) Microsoft Access D) Microsoft Windows
Ans : (B)
54. RAM can store -
A) Only data B) Only programs
C) Programs and data D) Only operating system
Ans : (C)
55. Which one is NOT a web browser?
A) Safari B) Foxpro
C) Opera D) Mozilla
Ans : (B)
56. Graphics for word processor
A) Execute B) Peripheral
C) Clip art D) Highlight
Ans : (O)
57. Which of the following techniques is best suited for bank cheques ?
A) Optical Character Recognition B) Optical Mark Recognition
C) BAR Code Recognition D) Magnetic Ink Character Recognition
Ans : (D)
58. A bootstrap is -
A) A device to support the computer B) An error correction technique
C) A memory device D) A small initialization program to start up a computer
Ans : (D)
59. E-mails you receive appear in :
A) Inbox B) Sent mails
C) Messengers D) Contacts
Ans : (A)
60. What is an intersection of a row and a column?
A) Cell B) Cursor
C) Form D) Record
Ans : (A)
61. Which views in Power Point 2007 can be used to enter Speaker Comments?
A) Normal Only B) Notes Page view only
C) Normal & Slide Sorter D) Normal & Notes Page view
Ans : (D)
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62. Which of the following is not a document view ?

A) Print Layout view B) Normal View
C) Web Layout view D) Work View
Ans : (D)
63. What do you mean by a Excel Workspace?
A) Group of Rows B) Group of Worksheets
C) Group of Workbooks D) Group of Columns
Ans : (C)
64. Arithmetic calculations are done by :
A) ALU B) Registers
C) Control unit D) Memory unit
Ans : (A)
65. Which of the following security mechanism is used by Network ?
A) HTTP B) Gopher
C) Fire wall D) None of these
Ans : (O)
66. RJ45 UTP cable has cables
A) 2 Pair B) 4 Pair
C) 5 Pair D) 3 Pair
Ans : (B)
67. How many OSI layers are covered in the X.25 standard?
A) Two B) Three
C) Six D) Seven
Ans : (B)
68. The arranging of data in a logical sequence is called
A) Sorting B) Searching
C) Classification D) Logic Summary
Ans : (A)
69. Identify the class of the following IPv4 address: 229.1.2.3.
A) A B)B
OC D)D
Ans : (D)
70. Which of the following is a category found in Custom Animation in MS Power Point 2007 ?
A) Design Templates B) Transition
C) Entrance D) Master Slide
Ans : (O)
71. What is the address given to a computer connected to a network called?
A) System Address B) Process ID
C) IP Address D) SYSID
Ans : (C)
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72. Which of the following is a shortcut key for "Save as"

A) Fl1 B) F5
C)F10 D) F12
Ans : (D)
73. In which menu do you find the option to wrap text in a cell of MS Excel 2007?
A) Home B) Insert
C) Formula D) Review
Ans : (A)
74. The name before ‘@’ in E-mail address is called :
A) Domain B) Range
C) User ID D) None of these
Ans : (C)
75. Which menu keeps the Goal Seek command in MS Excel 2007?
A) Home B) Insert
C) Formula D) None of these
Ans : (D)
76. The operating system that allows multiple programs to run at same time is
A) Batch processing B) Multithreading
C) Multitasking D) Real time
Ans : (C)
77. Which company developed the quick time format?
A) Microsoft B) Apple
C) SUN Microsystems D) IBM
Ans : (B)
78. The simultaneous transmission of data to a number of stations is known as
A) Aloha B) Broad cast
C) Bandwidth D) Analog transmission
Ans : (B)
79. Maximum range of zooming a screen in MS Word 2007?
A) 100 percent B) 200 percent
C) 400 percent D) None of these
Ans : (D)
80. A protocol used to control the secure sending of data on the internet is
A) TCP/IP B) HTTPS
C) SMTP D) HTTP
Ans : (B)
81. Digital signature cannot provide  for the message.
A) Authentication B) Nonrepudiation
C) Confidentiality D) Integrity
Ans : (C)
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82. In MS PowerPoint, to insert new slide in the current Presentation, we can choose

A) Ctrl + M B) Ctrl + O
C)Ctrl +F D) Ctrl + N
Ans : (A)
83. In Power Point Ellipse Motion is a predefined ................
A) Color Scheme B) Design Template
C) Animation Scheme D) None of these
Ans : (C)
84. What will be the decimal equivalent of the binary number (111011.101), given in base 2
A) 59.875 B) 59.625
C) 59.750 D) 59.487
Ans : (B)
85. Which protocol does DHCP use at the Transport layer?
A) 1P B) UDP
C) TCP D) ARP
Ans : (B)
86. A digital signature is
A) Scanned signature B) Handwritten signature
C) Encrypting information D) Signature in binary form
Ans : (O)
87. Data integrity refersto ................... of data
A) Accuracy B) Security
C) Centralization D) Non Duplication
Ans : (A)
88. ASCII stands for :

A) American Standard Computer for Indian Institutes

B) Australian Standard Computers for Indian Institutes
C) American Standard Code for Information Interchange
D) Australian Standard Code for Information Interchange

Ans : (O)
89. In MS PowerPoint 2007, to open an existing presentation, press
A) Ctrl + N B) Ctrl + A
C)Ctrl + O D) Ctrl + L
Ans : (O)
90. GIGO stands for
A) Garbage input Garbage output B) Garbage in Garbage out
C) General in General out D) None of these
Ans : (B)
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91. Which of the following scales a picture from its original size?

A) Relative to original picture size B) Horizontal and Vertical alignment
C) Lock aspect ratio D) Rotation
Ans : (A)
92. What is the port number for NNTP?
A) 70 B) 79
C) 80 D) 119
Ans : (D)
93. The internet uses which protocol?
A) TCP/IP B) CSMA
C)S.25 D) None of these
Ans : (A)
94. Which menu option can be used to split windows into two parts in MS Office 2007?
A) Review -> Window-> Split B) Page Layout -> Split
C) Review -> Split D) View —> Split
Ans : (D)
95. In MS Excel, a numeric value can be treated as a label value if ...... precedes it
A) Hash (#) B) Tilde (~)
C) Apostrophe (') D) Exclamation (!)
Ans : (O)
96. How long is an IPv6 address?
A) 32 bits B) 64 bits
C) 128 bits D) 128 bytes
Ans : (C)
97. Mouse isa:
A) Input/output device B) Input device
C) Output device D) None of these
Ans : (B)
98. The basic architecture of computer was first developed by
A) Blais Pascal B) Garden Moore
C) Charles Babbage D) John Von Neuman
Ans : (D)
99. The hexadecimal representation of the binary number (110101111) given in base 2 is
A) D71 B) D78
C) 1AF D) 32F
Ans : (O)
100. HTML and XML are markup languages
A) Specially development for the web B) Independent of SGML
C) Are versions of SGML D) Are based on SGML
Ans : (D)

Computer Question Bank for IA www.smarttypingsolution.com



http://www.IA1302.COM
http://www.smarttypingsolution.com

Computer Question Bank for IA IA 2013 Paper WWW.IA1302.COM

101.

102.

103.

104.

105.

106.

107.

108.

109.

110.

Modem is a:

A) Software B) Hardware

C) CPU D) All of these

Ans : (B)

Which of The following is not a database Object?

A) Tables B) Reports

C) Queries D) Relationships

Ans : (D)

In office XP, "Ruler" for top and left margin is available in which menu ?
A) Home B) View

C) Insert D) Review

Ans : (B)

Maximum number of columns in a worksheet of Excel 2007 has :

A) 2048 B) 256

C) 1024 D) None of these

Ans : (D)

Icon used to change screen saver in control panel is :

A) System Setting B) Regional setting

C) Add Program D) Display

Ans : (D)

Header and Footer option in MS Word 2007 is present in which menu?
A) Home B) Formula

C) View D) None of these

Ans : (D)

Which of the following is a shortcut key for "Spelling and Grammar"
A)F1 B) F5

C)F7 D) F12

Ans : (C)

Software which converts a program into assembly language, is called
A) Interpreter B) Assembler

C) Compiler D) Loader

Ans : (B)

Full form of MPEG is :

A) Moving Picture Expert Group B) Moving Picture Extra Generation
C) Moving Power External Group D) Motion Power External Group
Ans : (A)

In which manner can we arrange icons in the MS Explorer?

A) By name B) By size

C) By type D) All of these

Ans : (D)
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111. CPU stands for

A) Central Power Unit B) Core Processing Unit
C) Central Processing Unit D) Central Protection Unit
Ans : (O)
112. F1 key is used for :
A) View B) Print
C) Help D) None of these
Ans : (C)
113. Which objects are used to create a form in MS Access?
A) Queries and reports B) Tables and reports
C) Tables and Queries D) Tables only
Ans : (C)
114. Which of these are wild card characters?
A) [1.{} B) *,/
Cc)?,* D) All of these
Ans : (A&C)
115. Microsoft Access is a
A) RDBMS B) Network Database Model
C) OODBMS D) ORDBMS
Ans : (A)
116. Which piece of hardware protects the resources of a private network from users of other networks?
A) Router B) Firewall
C) Cache server D) Proxy server
Ans : (B)
117. MODEM word is made from:
A) Modulation, Rough modulation B) Modulation, Demodulation
C) Modulation, Defination D) None of these
Ans : (B)
118. A File which contains readymade styles that can be used for a presentation is called
A) Pre formatting B) Template
C) Auto Style D) Wizard
Ans : (B)
119. What is the default subnet mask for a class C network?
A) 255.0.0.0 B) 255.255.255.0
C) 127.0.0.1 D) 255.255.0.0
Ans : (B)
120. How many different numbers may be represented by 4 bits?
A) 16 B) 8
C) 12 D) 4
Ans : (A)
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121.

122.

123.

124.

125.

126.

127.

128.

129.

Which key on the keyboard takes us to the beginning of the line?

A) Esc Key B) Tab Key

C) Home Key D) Back Space

Ans : (C)

LCD stands for

A) Liquid Crystal Display B) Lithium Crystal Display
C) Light Color Display D) Liquid Color Display
Ans : (A)

Which of the following is an example of Automatic Text formatting?

A) Replacing two hyphens(--) with single hyphen(-)
B) Underlining Hyperlink
C) Adjusting extra space

D) All of these

Ans : (D)

Chief component of first generation computer was

A) Large Size Integrated Circuits B) Vacuum Tubes and Valves
C) Integrated Circuits D) Transistors

Ans : (B)

The name of table which indicates logical operations of Boolean expression is :
A) False table B) Truth table

C) Logical table D) None of these

Ans : (B)

Which type of advertisement appears on a web page?

A) Banner-ad B) Pop-up ad

C) Pop-under ad D) Discount-ad

Ans : (A&B)

Which segment do eBay, Amazon.com, and LandsEn4.com belong?
A) C2Bs B) B2Bs

C) B2Cs D) C2Cs

Ans : (C)

A diagram of an algorithm is called :

A) Subroutine B) Procedure

C) Flow chart D) Programme

Ans : (O)

Which area in an Excel window allows entering values and formulas?
A) Menu Bar B) Title Bar

C) Formula Bar D) Standard Tool Bar
Ans : (C)
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130. Which of the following is secondary memory device :

A) Keyboard B) Disk
C) ALU D) All of these
Ans : (B)
131. A hexa decimal number 'AQ' has the decimal value
A) 160 B) 80
C) 100 D) 256
Ans : (A)
132. Modes of communication are :
A) Simplex B) Duplex
C) Half Duplex D) All of these
Ans : (D)
133. A formula in Excel starts with :
A): B);
C)= D) -
Ans : (C)
134. In MS Excel, getting data from a cell located in a different sheet is called....
A) Accessing B) Functioning
C) Referencing D) Updating
Ans : (C)
135. What will be the hexadecimal equivalent of decimal number 54977
A) D6C5 B) D6CI1
C) DCe1 D) None
Ans : (B)
136. Which of the following is NOT a Microsoft Internet tool or technology?
A) Expression Web B) Silverlight
C) Internet Explorer D) Dreamweaver
Ans : (D)
137. What part of 192.168.10.51 is the Network ID, assuming a default subnet mask?
A) 51 B) 192.168.10
) 0.0.0.5 D) 192
Ans : (B)
138. In which menu 'drop cap' option is used in MS Word 2007 ?
A) Home B) Insert
C) Review D) Reference
Ans : (B)
139. Which computer virus records every movement you make on your computer?
A) DoS B) Malware Android
C) Trapper D) Key logger
Ans : (D)
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140. Which of the following is not a component of relational database

A) Table B) Attribute
C) Hierarchy D) Entity
Ans : (O)
141. In MS Access, which of the following creates a drop down list of values to choose from?
A) OLE Object B) Lookup Wizard
C) Memo D) Hyperlink
Ans : (B)
142. Which technique is preferable for transferring a large amount of data to and from a memory in a
short time?
A) DMA B) programmed I/O
C) Interrupt driven I/O D) None of these
Ans : (A)
143. To permanently delete a file or folder from the computer, we use
A) Enter + Delete B) Ctrl +Delete
C) Shift + Delete D) Alt + Delete
Ans : (C)
144. Which of the following is not a network?
A) WAN B) LAN
C) XAN D) MAN
Ans : (C)
145. Which of the following are part of the segments of e-commerce?
A) B2C B) C2B
C)B2B D) All of these
Ans : (D)
146. Norton’s Anti Virus is :
A) Virus B) Vaccine
C) Antidote D) None of these
Ans : (B&C)
147. The value of binary 1111 is
A) 16 B) 7
O) 15 D) None of these
Ans : (C)
148. Which of the following gives best graphical output?
A) Plotter B) Laser Printer
C) Dot matrix printer D) Daisy wheel Printer
Ans : (A)

149. The Internet Control Message Protocol (ICMP)

A) Reports error conditions to the original source
B) The source must relate errors to individual application programs
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C) Provides communication between the Internet Protocol Software on one machine and the
Internet Protocol Software on another

D) All of these
Ans : (D)

150. The product of two binary numbers 1011 and 1001 is
A) 1100011 B) 100100
C) 1010100 D) 000100
Ans : (A)

151. Linux isatype of ............... software
A) Application B) Open Source
C) Adware D) Compiler
Ans : (B)

152. In MS Excel, how do you rearrange the data in ascending or descending order?
A) Data, Form B) Data, Table
C) Data, Sort D) Data, Subtotal
Ans : (C)

153. An audit trail -

A) Is the recorded history of operations performed on a file
B) Can be used to restore lost information

C) Is used to make backup copies

D) Is the same as redo log

Ans : (A)
154. When the compiler cannot differentiate between two overloaded constructors, they are called
A) Destructed B) Ambiguous
C) Dubious D) Overloaded
Ans : (B)
155. What is the short cut key to highlight the entire column in MS Excel 2007 ?
A) Ctrl + Space Bar B) Ctrl + Page Up
C) Ctrl + Enter D) Ctrl + C
Ans : (A)
156. Tracks and sectors are related to
A) Hard disk B) Mouse
C) Printer D) All of these
Ans : (A)
157. 1 Kilobyte is equal to .............. bytes
A) 1024 B) 1048
C) 1000 D) 100
Ans : (A)

Computer Question Bank for IA www.smarttypingsolution.com



http://www.IA1302.COM
http://www.smarttypingsolution.com

Computer Question Bank for IA IA 2013 Paper WWW.IA1302.COM

158.

159.

160.

161.

162.

163.

164.

165.

166.

167.

The Database Language to create the structure of a Database is

A) DDL B) DCL

C) DML D) DQL

Ans : (A)

Octal number system contains :

A) Seven digits from 0 to 6 B) Nine digits from 0 to 8
C) Eight digits from 1 to 9 D) None of these

Ans : (D)

If the left as well as right side of the paragraph are aligned it is called

A) Left Right Aligned B) Centre Aligned

C) Right Left Aligned D) Justified

Ans : (D)

Which key cannot have duplicate values?

A) Index Key B) Primary Key

C) Foreign Key D) Super Key

Ans : (B)

Web pages are stored in :

A) Client B) Server

C) Modem D) Router

Ans : (B)

ISP stands for :

A) Internet Service Provider B) Internet Secondary Point
C) Instruction Service Provider D) Information Service Provider
Ans : (A)

Internet uses -

A) Circuit switching B) Telex switching

C) Telephone switching D) Packet switching

Ans : (D)

The M in HTML stands for :

A) Machine B) Mark up

C) Modeling D) Margin

Ans : (B)

Which of the following TCP/IP protocols are used for transferring electronic mail messages from
one machine to another?

A) FTP B) SMTP

C) SNMP D) RPC

Ans : (B)

O. M. R. stands for :

A) Optical Mark Reader B) Optical Magnetic Reader
C) Object Mark Reader D) Object Magnetic Reader Ans : (A)
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168. What router command allows you to determine whether an IP access list is enabled on a particular

interface?
A) Show access-lists interface B) Show ip interface
C) Show access-lists D) Show ip port
Ans : (B)
169. Which of the following is not a font style?
A) Bold B) Border
C) Italic D) Underline
Ans : (B)
170. In MS Excel which of the following functions will use to find the highest number in a series of
numbers?
A) high(B1:B5) B) highest(B1:B5)
C) max(B1:B5) D) maximum(B1:B5)
Ans : (C)
171. What can greatly reduce TCP/IP configuration problems?
A) PDC B) DHCP Server
C) WINS Server D) WINS Proxy
Ans : (B)
172. Which of these is considered a replacement for serial and parallel ports?
A) USB Port B) PS2 Port
C) SCSI Port D) LPT 1 Port
Ans : (A)
173. Excel displays the current cell address in the ..........
A) Title Bar B) Name Box
C) Status Bar D) Formula bar
Ans : (B)
174. Which of the following is a search engine?
A) Yahoo B) Rediff
C) MSN D) All of these
Ans : (D)

175. A database management system (DBMYS) is a:
A) Hardware system used to create, maintain, and provide uncontrolled access to a database.
B) Hardware system used to create, maintain, and provide controlled access to a database.
C) Software system used to create, maintain, and provide controlled access to a database.
D) Software system used to create, maintain, and provide uncontrolled access to a database.
Ans : (O)

176. We can take internet service by :

A) Dial up & Leased line B) Leased line
C) Dial up D) None of these
Ans : (A)
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177. Function overloading happens at

A) Compile Time B) Linking Time
C) Run Time D) None of the these
Ans : (A)
178. Sign used in email address are :
A) @ and , B) #and .
C) @ and. D) #and,
Ans : (O)
179. What is the maximum character length of a field name in MS Access 2007?
A) 60 B) 64
C) 68 D) Any number of characters
Ans : (B)
180. Which of the following is India's first Supercomputer?
A) PARAM B) SAGA 220
C) CRAY D) EKA
Ans : (A)
181. For each instruction of program in memory the CPU goes through a
A) fetch - execute - decode sequence B) decode - fetch - execute sequence
C) execute - store - decode sequence D) fetch - decode - execute sequence
Ans : (D)

182. In circuit switching
A) Transmission path is set before data transfer B) Dedicated communication link is not required

C) Data is stored at intermediate nodes D) None of these
Ans : (A)

183. Gigabit Ethernet has a data rate of Mbps
A) 100 B) 1000
C) 10 D) 10000
Ans : (B)

184. Which of the following is a sequential access device
A) Floppy Disk B) Magnetic Tape
C) Optical Disk D) Hard Disk
Ans : (B)

185. Shortcut key used to repeat the last action in MS Office 2007 is
A) F6 B) F4
C)F2 D) F8
Ans : (B)

186. Which of the following will not protect you from spam?
A) Filters B) Popup blocker
C) E-mail rules D) Spam blockers
Ans : (B)
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187. Container tag is :

A) <BR> B) <HR>
C)<B> & <I> D) None of these
Ans : (C)

188. In MS Excel, Comments put in cells are called .............
A) Smart Tip B) Soft Tip
C) Cell Tip D) Web Tip
Ans : (C)

189. Scroll Lock key is a:
A) Cursor control key B) Function key
C) Numeric Key D) Toggle Key
Ans : (D)

190. What is the full form of D.T.P.?
A) Desk Top Publishing B) Desk Top Paper
C) Desk Top Package D) None of these
Ans : (A)

191. Which tag creates a number/ordered list?
A) <OL> B) <UL>
C) <DL> D) All of the above
Ans : (A)

192. The property / properties of a database is / are :
A) Data stored in a database is independent of the application programs using it.
B) It consolidates separate files into a common pool of data records.
C) It is an integrated collection of logically related records.

D) All of these.
Ans : (D)

193. Inventor of ‘C’ language is :
A) L.Bark B) C. Cannon
C) James Haward D) Dennis Ritchie
Ans : (D)

194. Which one of the following is invalid variable name in C language?
A) St.Name B) St Name
C) St12Name D) StName
Ans : (A)

195. What is the following ? extern int i;
A) Declaration & Definition B) Declaration
C) Definition D) None of these
Ans : (B)

196. In a ‘C’ program, constant is defined
A) After main B) Before main
C) Anywhere, but starting on a new line D) None of these
Ans : (B)
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197. Which of the following C statement is syntactically correct ?

A) for (33); B) for (;);
C) for (); D) for (.);
Ans : (A)
198. If the two strings are identical, then strcmp() function returns
A)1l B) -1
0o D)'Y'
Ans : (C)
199. The rule for implicit type conversion in C is
A) unsigned< int <double< float B) int<unsigned<double<float
C) unsigned< int <float<double D) int<unsigned<float<double
Ans : (D)

200. The value of j at the end of the execution of the following C program is
int incr (int 1)

{
static int count =0 ;
count = count +1 ;
return(count);
}
main ()
{ . . .
inti,j;
for (i=0; i<=4;i++)
j = incr(i);
}
A) 10 A)6
A)4 A)7
Ans : (A)

-: Download :-
Computer Question Bank for 1A

www.smarttypingsolution.com
www.ial302.com

5 I i"" == 2 - ) - e |
o 8 S el | P

e *=Compu I*_stiphl'B;énk

€
'y \ . ¥ A
o S
% it

"3‘#.-"-'.' T

*
) B 1 e

- | .
S[lT]aa L Smart Computer Buesiion Bank

JeRtwares

www.smarttypingsolution.com

Computer Question Bank for IA www.smarttypingsolution.com



http://www.IA1302.COM
http://www.smarttypingsolution.com
http://www.smarttypingsolution.com
http://www.ia1302.com
http://www.smarttypingsolution.com

